
Př. 3: Vypočítej: 

(52)3 = 
(103)4 = 

(42)2 = 
(0,13)2 = 

(2𝑎 )
2
= 

(3𝑎2)2 = 
(5𝑦4)2 = 

(3𝑦2)3 = 

Př. 4: Vypočítej: 

32. 34 = 
(24)6 = 

79: 75 = 

24. 8 = 

72. 74 = 

(35)2 = 

118: 115 = 

23. 28 = 

Př. 5: Vypočítej:  

23. 24. 4 = 

2.3.62. 63 = 

69. 63 = 

7.73. 72 = 

27.3. 37 = 

125.25. 54 = 

Př. 6: Doplň *, aby 

platila rovnost: 

(2∗)7 = 221 

(3∗)3 = 318 

(54)∗ = 512 

(3∗)4 = 312 

52. 5∗ = 59 

7∗. 7 = 74 

Př. 7: Vypočítej: 

32. 33. 3

34
= 

(3.5)4 = 
(28. 53)4 = 

27. 26

2.22. 25
= 

(2.7)3 = 

(33. 55)6 = 

Př. 8: Vypočítej: 

55. 53. (52)6

25.57: 52
= 

 

34. 27. (32)4

31. 37: 34
= 
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